EXHIBIT A

SERVICES RENDERED BY BROWN RUDNICK BERLACK ISRAELS LLP COMMENCING OCTOBER 1, 2002 THROUGH MARCH 31, 2003

	TIME AND COMPENSATION BREAKDOWN						
Partners and Of Counsel	Year of Graduation from Law School and Year(s) Admitted to Bar	Partoership Year	Rate	Rours	Amount		
Joseph F. Ryan [†] +	Graduated in 1977; Admitted to Massachusetts Bar in 1977	1984	\$590.00	620.40	\$359,280.50		
M. Frederick Pritzker [†]	Graduated in 1966; Admitted to Massachusetts Bar in 1966	1974	\$570.00	107.00	\$59,708.00		
Charles Crosthwaite	Graduated in 1977; Admitted as a solicitor in England and Wales in September 1997	2001	\$540.00	69.50	\$37,530.00		
Edward S. Weisfelner	Graduated in 1982; Admitted to	1990	\$575.00	198.10	\$113,907.50		
	New York Bar in 1983		\$625.00	49.50	\$30,937.50		
Steven E. Greenbaum	Graduated in 1981; Admitted to New York Bar in 1983	1988	\$560.00	146.20	\$81,872.00		
Philip J. Flink [†]	Graduated in 1981; Admitted to Massachusetts Bar in 1981	1989	\$525.00	230.60	\$121,065.00		

.

[†] Travel time is discounted at 50%.

⁺ The fee amount has been reduced to eliminate time attributable to preparing the response to the Fee Committee's Recommendation.

David H. Murphree ^{††}	Graduated in 1973; Admitted to New York Bar in 1974; Admitted to Massachusetts Bar in 1977	1985	\$525.00	2.50	\$0.00
Steven B. Levine ^{††}	Graduated in 1981; Admitted to Massachusetts Bar in 1981	1989	\$515.00	.30	\$0.00
Elizabeth Ann Ritvo	Graduated in 1976; Admitted to Massachusetts Bar in 1980	1985	\$505.00	7.30	\$3,686.50
M. Robert Dushman ^{††}	Graduated in 1973; Admitted to Massachusetts Bar in 1975	1982	\$505.00	.30	\$0.00
Abigail Hechtman	Graduated in 1987; Admitted to Massachusetts Bar in 1987	1995	\$490.00	127.00	\$62,230.00
Steven R. London	Graduated in 1980; Admitted to Massachusetts Bar in 1980	1988	\$490.00	1.20	\$0.00
Gerald Parascandalo	Graduated in 1985; Admitted to Massachusetts Bar in 1998	1995	\$475.00	13.40	\$6,365.00
Harold J. Marcus	Graduated in 1982; Admitted to New York Bar in 1983; Admitted to Georgia Bar in 1986; Admitted to Massachusetts Bar in 1988	2002	\$480.00	12.70	\$6,096.00
John G. Nossiff Jr.	Graduated in 1989; Admitted to Massachusetts Bar in 1989	1997	\$455.00	17.70	\$8,053.50

^{††} A total of \$8,493.50 in fees attributable to these professionals has been excluded by BRBI in order to seek to comply with the Fee Committee's mandate regarding what the Fee Committee considers to be transitory professionals.

Brian Michaelis ^{††}	Graduated in 1989; Admitted to Massachusetts Bar in 1989	2001	\$455.00	.90	\$0.00
Kenneth R. Goldberg	Graduated in 1988; Admitted to New York Bar in 1990; Admitted to Massachusetts Bar in 1999	2000	\$455.00	111.00	\$50,505.00
Steven D. Pohl ^{†+}	Graduated in 1989; Admitted to Massachusetts Bar in 1989	1997	\$450.00	880.30	\$386,055.00
John P. Biedermann ^{†+}	Graduated in 1987; Admitted to New York Bar in 1988	N/A	\$450.00	857.90	\$385,231.10
Jayne M. Donegan	Graduated in 1989; Admitted to Rhode Island Bar in 1989	1997	\$430.00	10.50	\$4,515.00
Harvey M. Katz [†]	Graduated in 1977; Admitted to New York Bar in 1982	1987	\$430.00	100.30	\$42,699.00
Todd A. Feinsmith	Graduated in 1991; Admitted to Massachusetts Bar in 1991	1998	\$425.00	82.20	\$34,935.00
Anthony L. Gray	Graduated in 1993; Admitted to Massachusetts Bar in 1993	2000	\$425.00	136.10	\$57,842.50
Andrew B. Strehle	Graduated in 1994; Admitted to Massachusetts Bar in 1994	2002	\$400.00	8.30	\$3,320.00
Elise Busny	Graduated in 1994; Admitted to Massachusetts Bar in 1994; Admitted to Connecticut Bar in 1995	2002	\$390.00	22.00	\$8,580.00
SUB-TOTAL				3,813.20	\$1,864,414.10

Associates	Year of Graduation from Law School and Year(s) Admitted to Bar	Parmership Year	1990	Hours	Amount
Courtney A. Wilson	Graduated in 1993; Admitted to Illinois Bar in 1993; Admitted to Massachusetts Bar in 1995	N/A	\$390.00	21.90	\$8,541.00
David Lowry ^{††}	Graduated in 1996; Admitted to Massachusetts Bar in 1996	N/A	\$390.00	.40	\$0.00
David E. Golden ^{††}	Graduated in 1994; Admitted to Connecticut Bar in 1994	2003	\$380.00	1.80	\$0.00
James L. Hauser	Graduated in 1994; Admitted to Massachusetts Bar in 1994	N/A	\$380.00	56.20	\$21,356.00
Matthew S. Gilman ^{††}	Graduated in 1996; Admitted to Maryland Bar in 1996; Admitted to Massachusetts Bar in 1998	N/A	\$355.00	2.60	\$0.00
Dana S. Montone ^{††}	Graduated in 1997; Admitted to New Jersey Bar in 1997; Admitted to New York Bar in 1999	N/A	\$335.00	3.90	\$0.00
Jeffrey P. Hermes	Graduated in 1997; Admitted to Massachusetts Bar in 1997	N/A	\$335.00	12.80	\$4,288.00
Adam B. Cantor	Graduated in 1997; Admitted to New Jersey Bar in 1997, New York in 1998	N/A	\$310.00	8.30	\$2,573.00
James Bedar	Graduated in 1998; Admitted to Massachusetts Bar in 1998	N/A	\$310.00	197.70	\$61,287.00

Associates	Year of Graduation from Law School and Year(s) Admitted to Bar	Parmership Year	Rate	Hours	Amount
Daniel C. Gusenoff	Graduated in 1998; Admitted to Massachusetts Bar in 1999; Admitted to Washington, D.C. Bar in 2000	N/A	\$310.00	158.90	\$49,259.00
Robert L. Murray, Jr.	Graduated in 1998; Admitted to Massachusetts Bar in 1998	N/A	\$310.00	61.40	\$19,034.00
Steven B. Smith ^{†+}	Graduated in 1999; Admitted to New Jersey Bar in 2000; Admitted to New York Bar in 2001	N/A	\$285.00	551.00	\$166,284.50
Lisa M. Kelsey	Graduated in 1999; Admitted to Massachusetts Bar in 1999	N/A	\$285.00	359.80	\$102,543.00
Travis Corder	Graduated in 1999; Admitted to Massachusetts Bar in 1999	N/A	\$285.00	129.60	\$36,936.00
Stephanie Taverna Siden	Graduated in 1999; Admitted to Massachusetts Bar in 1999, Maine Bar in 1999	N/A	\$285.00	348.30	\$99,265.50
Robert L. Harris	Graduated in 1999; Admitted to Massachusetts Bar in 1999	N/A	\$285.00	50.50	\$14,392.50
Bethany A. Grazio	Graduated in 2000; Admitted to Massachusetts Bar in 2001	N/A	\$260.00	191.60	\$49,816.00
Danika M. Haueisen	Graduated in 2000; Admitted to Massachusetts Bar in 2001	N/A	\$260.00	57.10	\$14,846.00

Associates	Year of Graduation from Law School and Year(s) Admitted to Bar	Parmership Yoar	Ruto	Hours	Amount
Erin E. McClaughlin [†]	Graduated in 2000; Admitted to Massachusetts Bar in 2001	N/A	\$260.00	716.80	\$185,965.00
Sarah Heaslip ^{††}	Graduated in 2000; Admitted to Massachusetts Bar in 2001	N/A	\$260.00	1.00	\$0.00
Sunni W. Pearson	Graduated in 2001; Admitted to Massachusetts Bar in 2002	N/A	\$225.00	223.10	\$50,197.50
Catherine W. Ng	Graduated in 2001; Admitted to Massachusetts Bar in 2002	N/A	\$225.00	514.00	\$115,650.00
Jessica M. Dubin	Graduated in 2001; Admitted to Massachusetts Bar in 2002	N/A	\$225.00	53.40	\$12,015.00
Katherine A. Haffner	Graduated in 2001; Admitted to Massachusetts Bar in 2002	N/A	\$225.00	60.00	\$13,500.00
Dennis Dougherty	Graduated in 2001; Admitted to Massachusetts Bar in 2002	N/A	\$225.00	655.90	\$147,577.50
Shawn Draper ^{††}	Graduated in 2001; Admitted to Massachusetts Bar in 2002	N/A	\$225.00	.40	\$0.00
John C. Elstad ^{††}	Graduated in 2002; Admitted to Massachusetts Bar in 2003	N/A	\$195.00	7.10	\$0.00
Samantha L. Gerlovin	Graduated in 2001; Admitted to Massachusetts Bar in 2002	N/A	\$225.00	20.50	\$4,612.50

Associates	Year of Graduation from Law School and Year(s) Admitted to Bar	Partnership Year	Rate	Hours	Amount
Michael J. Hickey Jr.	Graduated in 2002; Admitted to Massachusetts Bar in 2003	N/A	\$150.00	30.30	\$4,545.00
Brooke Sugaski ^{††}	Graduated in 2002; Admitted to Massachusetts Bar in 2003	N/A	\$150.00	3.00	\$0.00
Averi R. Miles	Graduated in 2002; Admitted to	N/A	\$150.00	.80	\$120.00
	Massachusetts Bar in 2002		\$195.00	12.60	\$2,457.00
Susanne Maki Uchiyama+	Graduated in 2002; Admitted to	N/A	\$150.00	18.10	\$2,715.00
	Massachusetts Bar in 2003		\$195.00	72.50	\$7,784.50
SUB-TOTAL				4,603.30	\$1,197,560.50

Paralogala	Year of Graduation from Law School and Year(s) Admitted to Bar	Partnership Year		Hours:	Amount
Carol S. Ennis	N/A	N/A	\$210.00	277.50	\$58,275.00
Ann C. Meltzer ^{††}	N/A	N/A	\$210.00	2.40	\$0.00
Rita L. Gelman	N/A	N/A	\$185.00	3.50	\$647.50
Lisa A. Movitz	N/A	N/A	\$185.00	33.30	\$6,160.50
Janet S. Wamsley+	N/A	N/A	\$185.00	234.50	\$42,254.00
Maura M. Toler	N/A	N/A	\$185.00	8.30	\$1,535.50
Cindi A. Hanson	N/A	N/A	\$185.00	108.60	\$20,091.00
Susan G. Oldham	N/A	N/A	\$185.00	64.90	\$12,006.50
Diahnn R. Smith	N/A	N/A	\$185.00	236.40	\$43,734.00
Sarina Lo Cascio	N/A	N/A	\$145.00	136.80	\$19,836.00
Gail Johnson ^{††}	N/A	N/A	\$145.00	.70	\$0.00
Brooke Ronhovde	N/A	N/A	\$125.00	67.50	\$8,437.50
Christopher M. Laukamg [†]	N/A	N/A	\$110.00	352.10	\$38,676.00
SUB-TOTAL				1,526.50	\$251,653.50
GRAND TOTAL				9,943.00	\$3,313,628.10

TOTAL AMOUNT RECEIVED DURING THIS COMPENSATION PERIOD BASED ON 20% HOLDBACK^{††} - \$2,187,131.60

BALANCE DUE^{‡‡} - \$500,065.15

^{††} BRBI has received payment (less the 20% holdback) for the period October 1, 2002 through February 28, 2003, only. ^{‡‡} Balance due for payment of 80% of fees in addition to \$100% of expenses for March, 2003.